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Missing Decimal Multiplicand

Find the missing multiplicand.

120.2 x =

36.80.4 x =

332.2 x =

19.80.2 x =

72.90.9 x =

17.40.2 x =

9.10.1 x =

700.5 x =

57.40.7 x =

75.42.6 x =

75.61.8 x =

490.7 x =

651.3 x =

16.20.6 x =

97.21.2 x =

30.80.7 x =

180.3 x =

71.32.3 x =

40.50.9 x =

50.41.4 x =
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Answers

Find the missing multiplicand.

120.2 60x =

36.80.4 92x =

332.2 15x =

19.80.2 99x =

72.90.9 81x =

17.40.2 87x =

9.10.1 91x =

700.5 140x =

57.40.7 82x =

75.42.6 29x =

75.61.8 42x =

490.7 70x =

651.3 50x =

16.20.6 27x =

97.21.2 81x =

30.80.7 44x =

180.3 60x =

71.32.3 31x =

40.50.9 45x =

50.41.4 36x =


